/DVIRB

3UDFRZQLN 5RINaDG  SURI =DVWDYHWVND /HVLD 7\J

7\6] 7N 7N
> =DJRVSRGDUIRZDQLH IXI\VINFQH L =DJRVSRGDUIRZDQIH 1RZRFTHVQH IUHQG\ Z IXAVINFH Z SURI =DVIDYHIVND
< UHNUHDFNIQH GZ  SURI =DVIDYHIVND IXUN\VINFQH L UHNUHDF\IQH /HVD = 75/ 257 :
= /HVD = 750 =(: Z SURI =DVIDYHIVND
= JHVD = 750
© 7\¢] =(C:
= =DJRVSRGDUIRZDQIH
2 IXUN\VINF]QH L UHNUHDF\IQH
n iZ SURI =DVIDYHIVND
JHVD = 750
:(&

=
n
a 7N 7N
e =DJRVSRGDUIRZDQLH IXI\VINF]QH L UHNUHDFNIQH §iZ SUR =DJRVSRGDUIRZDQLH IXI\VINFQH L
2 | =DVIDYHIVND /HVID = 750 =(& UHNUHDFNIQH Z  SURI =DVIDYHIVND

‘ ‘ JHVD = 750 =(:

7\¢] 7\¢] 7\¢]
SIIRIXUN\VINND Z SURI =DVIDYHIVND 1RZRFJHVQH IUHQG\ Z IXVINFH Z SURI =DVIDYHIVND =DJRVSRGDUIRZDQIH
JHVD = 75/ 257 : JHVD = 75/ 257 : IXUN\VINFQH L UHNUHDF\IQH
z iZ SURI =DVIDYHIVND
I 7\6] 7\6] 7\6] JHVD = 750
a SIRIXU\VINND Z SIRI 1RZRFTHVQH IUHQG\ Z IXAVINFH Z SUR 1RZRFTHVQH IUHQG\ Z IXAVINFH GZ SURI =(&
N =DVIDYHIVND /HVID = | =DVIDYHIVND /HVID = 757 =DVIDYHIVND /HVID = 75/ 257&
. 75/ 257 : 257 =
7\¢]
1RZRFTHVQH IUHQG\ Z IX\VINFH GZ SU
Rl =DVIDYHIVND /HVID = 75/
257 &
_ 7N
™ 1RZRFTHVQH IUHQG\ Z IXAVINFH GZ SURI
=DVIDYHIVND /HVID = , 2578&

o
©




